RONIX POWER TOOLS

Premium Quality

—) I\

Uil

=

2800

www.ronixtools.com Rﬂtarv Hammer 1300W



RONIX

Premium Quality

POWER TOOLS

www.ronixtools.com

Number | Name Number | Name Number | Name

1 Front Cover 36 Big gear 70 Oring 32X2

2 Circlip 28 37 Stop pin B4-16 71 Axile Circlip 20

3 Slider Washer 38 Bearing 6001-2RS 72 Axile Circlip 16

4 Slider 39 Seal 73 Clollar

5 Spring 40X2.5X75 40 Gear case 74 Contour gasket

6 Circlip 30 41 Screw M6X30 75 Flat Screw M8X40
7 steel column 8X19.5 42 Bearing 6201 76 Auxiliary handle substrate
8 Guard Ring Sleeve 43 Rotor 77 Auxiliary handle
9 lock sleeve 44 Bearing 628-2RS 78 Washer 22*13*0.3
1 Tool Holder 45 Stator 79 Washer 16.5*8.2%0.5
12 Second striker 46 Air Guider

13 Oring 22.3X3.5 47 Screw ST4.8X65

14 Second striker seat 48 Motor housing

15 Oring 44.4X2.8 49 Brush holder

16 Anti-vibration Rubber Ring 51.3X31X10.5 50 Inductance

17 Buffer Washer 51 Bottom Cover

18 Cylinder 52 Screw ST4.2X22

19 Cylinder case 53 Left handle

20 Screw M8X40 54 Screw M6X30

21 Oring 53.7%2 55 Right handle

22 Ram 56 Screw ST4.2X22

23 O ring 30X5 57 Cable Sheath

24 Piston 58 Screw ST4.8X35

25 Connecting Rod 59 Cable

26 Piston Pin 60 Cable Clamp

27 Needle bearing NK12/12YG/2 61 Tap Screw ST4X16

28 Stufing cover 62 Capacitance

29 Oil window 63 Switch

30 O ring 63X2 64 Carbon brushes

31 Crank shaft case 65 Wool felt

32 Crank shaft 66 Insert nut M4X12

33 Spring 47 67 Screw M4X12

34 Oring 47.2X3.55 68 Tap Screw ST4.2X8

35 Bearing 6204-2RS 69 Flat Key 4X4X10

2800

Rotary Hammer 1300W



